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INTERNATIONAL TOURISM 
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The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words 

as far as practicable. 

GROUP – A 

( Multiple Choice Type Questions ) 

1. Choose the correct alternatives for the following:  

   10 × 1 = 10 

i) Warsaw convention was held in  

a) 1929 b) 1944 

c) 1961 d) 1976. 

ii) Tourist going from own country to foreign Country is 

called 

a) Inbound tourist b) Outbound tourist 

c) Domestic tourist d) None of these. 

iii) 0° longitude passes through    

a) Moscow b) Dhaka 

c) Kolkata d) None of these. 
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iv) IATA Geography is divided into how many zones. 

 a) 3 b) 5 

 c) 4 d) 6 

v) The concept of Allocentric, Psychocentric  and 

Midcentric tourist was given by 

a) Smith b)  Plog 

c) Cohen d) Doxy. 

vi) The tourist who followed the off-beaten track is known 

as  

a) Explorer b) Elite 

c) Mass d) None of these. 

vii) Who is the major international tourist receiving state of 

Eastern India ?   

a) West Bengal b)  Bihar 

c) Jharkhand d) Orissa. 

viii) Elora Caves Consists of how many caves ?  

a) 24 b) 28  

c) 34 d) 36. 

ix) How many World Heritage sites situated in India ? 

a) 26 b)  28 

c) 30 d) None of these. 

x) The Head quarter of W.T.T.C is located at  

a) London b)  Brussels 

c) Geneva d) None of these. 
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GROUP – B 

( Short Answer Type Questions ) 

 Answer any three of the following. 3 × 5 = 15 

2. Describe Smiths model of tourist typology.  

3. Differentiate between inbound, outbound and domestic 

tourism with suitable examples.  

4. What are the factors affecting the global and regional tourist 

movements ? 

5. Discuss the key features of Chicago Convention.  

6. Differentiate between alternative tourism and mass tourism ?  

GROUP – C 

( Long Answer Type Questions ) 

 Answer any three of the following.  3 × 15 = 45 

7. List out various countries which receive maximum India 

outbound tourists ? Analyse the key factors responsible for 

the growth & development of Indian outbound tourists to 

these countries. 

8. Discuss how automation have changed and continuous to 

change the international tourism ? 

9. Select an international tourism destination of your choice 

and discuss its effect an its environments. 

10. Critically examine the strength and weakness of India as an 

international tourist destination.  

11. Write short notes on the following : 

 a) Political risk 

 b) Alternative tourism 

 c) Economic determinants of international tourism. 

    


